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. Fand the complex impedance in polar form of @

the network shown in Figure P5.23 for w = 300,
Repeat for @ = 1000 and « = 2000.
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the phasors vy, V.. Ve, ¥y

Consider the circuitshown in Figure P5.33. Find

cand L. Draw the
phasor dizgram to scale. What is the
lationship between I and V,? Betwe
vV, ?
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Figure P5.33

Wz|e ]I;i/r l




the phasors Vi, Va, Vg, Vi, and 1. Draw the
phasor diagram to scale. What is the phase re-

. Consider the cirenitshown in Figure P5.33. Find . I

lationship between | and V7 Between T and

Vi? _5' I
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P5.38. Solve for the mesh currents shown in Fipure
P5.38.
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Figure P5.38
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Find the average power dissipated in the 20 ﬂ

o

resistor in the circuit seen in Fig. P7.68 if | o Y —
fy = 15c0s10,000r A. (?) |_]_ §
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Figure P7.68
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